ZH:(2000) Ab3IOHEEH] 2

(2400) =12 XI A At3I H

2 8 (2420) KIS AL R e

NI (2421) =2 MBS

HIAIE: (220) REAIAHS
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2t = Il 3 = 2
Of &b R A = Il =
.2 g A MAE =2 Ol &b M = &3 %
2000
AFE|OH | ,362,375 1,250,375 112,000
2400
FEH XA A2 OH 2 H] ,362,375 1,250,375 112,000
2420
KIS AR ,362,375 1,250,375 112,000
2421
ColMOS ,362,375 1,250,375 112,000
200
AL Off &F ,261,070 1,149,070 112,000
220
KHHIAH ,261,070 1,149,070 112,000
307
gI2tol & 175,000 149,000 26,000
121,000 95,000 26,000/04 CI2+SHALE X 21E
o M123] SoIMOIS QA AlatA
10,000,000& x 14 = 10,000
oHtEANalI2s =03 F4 = 9,000
o QIZHANE WS AFDZ01J] 24 H el = 7,000
308
A XM S 983,250 947,250 36,000
ors




HIAIE: (220) REAIAHS

[NE] [ 2]

& :(2000) AFSIOHEEH] 2t (2400) =S L X S AMSI DN & (2420) K| <= AL O & Mgt (2421) =2l A OH2
i = P! ] 5
off A o = o o = z
o2 E NE A = N R
983,250 947,250 36,000/01 XXM ZAEED
oXNHUSA OFLRIX S& CIMIZRIE X
3,000,0002 x 16AIZ x 50% - 24,000
A=A DIYRIX X P
1,0002 x 16IHAIZ x 1,0000H x 50% - 8,000
ASA B0 AT BE (M) R
20,0008 x 16IHAIZ x 2500 x 50% - 4,000
402
BIRIR =0 50,000 0 50,000
=
50,000 0 50,000/01 BI2tAHE 2 X
ST AlE T 50,000
H & & o 1,362,375 1,250,375 112,000
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ZH:(2000) Ab3IOHEEH] 2

(2400) =12 XIS ALSIH S &

(2420) KIS AtSIOHE

NI (2422) XIS

HIAIE: (210) B = AL

2t = Il 3 = 2
Of &b R A = Il =
.2 g A MAE =2 Ol &b M = 3 9
2000
AF2I O HI 40,552,130 35,317,680 5,234,450
2400
FEH XA A2 OH 2 H] 40,552,130 35,317,680 5,234,450
2420
KIS AR 40,552,130 35,317,680 5,234,450
2422
NP By 40,552,130 35,317,680 5,234,450
200
AL Off &F 40,552,130 35,317,680 5,234,450
210
S LAY 23,989,130 23,762,680 226,450
403
A XM S 23,989,130 23,762,680 226,450
A=01&
23,989,130 23,762,680 226,450|01 XXISHH K22 X
CRLAESIMLAL (15AIZ 394 20721)
(z12,682,000,000& + <1,811,700,0009) - 14,267,250,000&
= 226,450
220
KM A 16,563,000 11,555,000 5,008,000
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1(2400) FEH L XA AN 8 (2420) KIS AHS|OH

NI (2422) XIS MIAIE: (220) XEAI A

[NE] [ 2]

Z:(2000) AF8IH 2B
i = J P! 2 5
(S | i At = Il ES
I s ME L AIAIE = Of & | = A" o
403
XHXI EHH S 16,563,000 11,555,000 5,008,000
XH=20l &
16,563,000 11,555,000 5,008,000(01 KtXIEHHI X222 X
o004 HEGE (2 =AY
1,264,000, 0002 x50% = 632,000
o ARDFOXAAY
14,316,000,0002 - 9,940,000,000&! = 4,376,000
N & & 40,552,130 35,317,680 5,234,450
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